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Final Review



You will need your reference sheets for
Ch1,Ch 2 and Ch 4 to be handy.



Calculating slope

clse
From rise and run: Slope = Cuwn

Aramp has a height of 2.5 m and a horizontal run of

8 m. Calculate the slope of the ramp.

Sftq:m_‘ 96 = 0.3125



Calculating slope

From a graph: Y
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Calculating slope
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Calculations involving pitch

{i‘%t ,‘-\.hh
The pitch of aroofis 3 : 8.
How much will it rise for a run of 6 m?

Tise _ Tise 3 oo Tise
Tun Cun 8 b
g(f'ﬁﬂ = (8

Mise= 2.5 mo



Calculations involving grade

A highway has a posted grade of 3%. Calculate the
s“vertical change over a horizontal distance of 240 m.

t‘isf' Tun,
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Calculations involving rate of change

Acyclist rode their bike 85 km in 4 hours. If he rode
at a constant speed, what was his rate of travel?




Graphs involving rate of change
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Creating Line Graphs and Bar Graphs

Annual Precipitation
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Creating Line Graphs and Bar Graphs

Quantity

Quantity Items

Figure 1. Horizonlal graph Figure 1. Vertical graph
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Solving Triangles

If you know 2 sides and the right angle:
- find 3rd side with the Pyth Thm
- find 1st angle with an inverse trig ratio
- find 2nd angle with an inverse trig ratio or the
180° angle rule for triangles



Solving Triangles
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Solving Triangles

If you know 1 side, one acute angle, and the right
angle:
- find 3rd angle with the 180° angle rule for
triangles
- find 1st side with a trig ratio
- find 2nd side with a trig ratio or the Pyth Thm



Solving Triangles
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Angles of Elevation




2-Triangle Problems
- find the common side first

How long is side k?

(oS LI.[_‘;: -.E....j'. 'f:b-l'l"'i‘:E"-' ES

X 3
x=69 o - &3S
C2540 SINL8’

X= Be35 m k=9 m




Chapter 1 - Chapter Test
pg. 55 -57,#1 -9

Chapter 2 - Chapter Test
pg. 119 -123,#1 -5

Chapter 4 - Chapter Test
pg. 226 - 230, #1 -7



Answer Key - Chapter 1:
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Answer Key - Chapter 2: B
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Answer Key - Chapter 2:
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Answer Key - Chapter 4:

CHAPTER TEST, p. 226
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